log AY/Y)

log (Y/AY)

L* =49, *L ARGHIDuUL standard Ilu.tnessl*
I* ne=Yw nc=100,  /n
'y 1
'y 1
I* LaganDu1 =IN(A 17+ A0 V) (A2nAgn) § (Yad100<Y<=Y,o)
I LABJNDul*In(Aln"’AZuX)/(AZuAIOn) (x=Y1Yy)
I*(3.6)=329)% ,(18)=748* ,(50)= 11164

I or-1163.74, A=0//666, 4,=0,1044, ¢=1,00
*1g=747,51, A=0,f 17, A=0,0058 -
18~ n F n

= i Al application
* 3l(,—328,76,|*u—7/ﬂl 751NF18 ! e

7L 1%,=1
XN=0,2 Xw=5

LABJINDul
tristimulus value difference
Yoc=Yw nc=100,
I* LABINDUL =IN(A 17+ A2RY)/(A2nAon)  (Yd/100<Y<=Y,c)
I LABINDu1 =IN(A 17+ A2 (A2uAon) - (X=YTYy)
dY=Agn(A1rtAznY)=Agn(A1itAX), see CIE 230:2019
dYgg=0,35, Ay,=0,6666, A,=0,1044, ¢=1,00
dY;=0,08, A=0,017, A,=0,0058
dY3¢=0,02 Y,=18, dY=0,08 o

I* ;=748 dY,=0,08 dY,/Y,=0, 0044

LABJINDul
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,
I* LABINDuL =IN(A 17+ A2RY)/(A2nAon)  (Yd/100<Y<=Y,o)
I LABaNDuL =IN(A 17+ A2X)/(A2uAon) - (X=YTYy)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y:=0,0039, A4,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g=C 0044, A=0.017, A=0,0058
(dY/Y} 60,0770 Y, =18, dY=0,08

NG application
log(dY/YF-2,34 m=-0,2u3 ~ _
I* ;=748 dY,=0,08 dY,/Y,=0, 00441

|>QJ’:l
XxN=0,2 Xw=5

LABJNDul
tristimulus value contrast

C,=(YIaY) yetnulus valLe o
1% ABanDuL =IN(A 107+ A2Y)/(A2nAon)  (Ynd/100<Y<=Y,o)
1* L ABaNDuL =IN(A 17t A2X) (A2 Aon)  (X=YTYy)
YIGY=Y/A g Ag Ao V)IEX Y TA oAt Ag )]

Iog(Y/dY):Z 34 m=0, 13 - ==

(Y/dY}o=250,4F, Ay 20,6666, %—o 10442 00
(Y/dY)§=222 .40, A,=0,017, AgntO o0sgREY Ca“(’"
(Y/dkau 42,55 Y,=18, dY=0,08

xN=0,2 .><w—5

LABJINDul relative standard lightnessl*/I*
1%/1% u Ync‘YW nc_loox

1* L ABINDUL =IN(A 17 +ARY)/(AnAon)  (Ynd/100<Y<=Yo)
I* L aBINDuL =IN(A 10 A2X)/(A2uPon)  (X=YTYY)
1 \(3,6)=329/* ,(18)=748 * y(90)=1164

I¥ ogfl* =1,55, Ay=0,6666, 4,=0,1044, ¢=1,00

I* g/l =1,00, A =0.017, A,=0,0058

I* 3,/ =0,43,¥,=747 51 Y,=18

[% /1% =1, m,=0,79

L* =49,I* ;=748 application
ra

=1

log(AY/AY,)

XN=0,2 Xw=5

LABJNDu1 relative
tristimulus value difference

D7 Yoc=Yw - nc=100,
1* L ABINDU1 =IN(A 17 +ARY)/(A2nAon)  (Ynd/100<Y<=Yo)
1%L ABINDUL =IN(A 10+ A2 (A2 Pon)  (X=YTYY)
dY/dY =(A1tAX)/(A1+AY)

dYoy/dY,=4,43, Ay=0,6666, ,=0,1044, ¢=1,00

dY,g/dY,=1,00, A,;=0.017, 4=0,0058

dY; ¢dY,=0,31 Y, =18, dY=0,08 -

/
I*,=748 dY,=0,08 dY,/Y,=0, 0044

log [AYY) I (AYIY),]

LABJINDuL1 relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
I* L ABINDUL =IN(A 10 +A2RY)/(A2nAon)  (Ynd/100<Y<=Yo)
1L ABINDuL =IN(A 10t A2)/(A2uPon)  (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)

(dY/Y)o/(dY1 N=0,88, Ay=0,6666, A,=0,1044, ¢=1,00

(dY/Y)g/(dY/Y)=1.00, A,1=0,017, Ar=0,0058

(AY/Y} g(dY/YV)=1, 3 Y =18, dY=0,08

log[(dY/YY(dY/Y)J=0, m=-0,13 ¥

I* =748 dY,=0,08 dY,/Y,=0,0044

Iy =1

application
rang

log [(Y/AY) I (YAY),]

XN=0,2 Xw=5

LABJNDuL1 relative
tistimulus value contrast
CICU=(YAVYI(YIAY), v S 225 60,
I* L ABINDUL =IN(A 17 +A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
I* L ABINDuL =IN(A 10+ A2 (A2 Pon)  (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)

(YIdY)/(YIdY)=1,12, Ay,=0,6666, A4,=0,1044, ¢=1,00

(Y/dY)g/(Y/dY)=1,00, A,=0,017, A-=0,0058

(Y/dY} ¢(Y/dY)=0,64 Y,=18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range




